Rl

H0
vl
ol
A0

KJ

E
ol

o)
</

S M

sjcho@shinhan.ac.kr

KA



1. 1281529 MUY (KVL)

Kirchhoff’s Voltage Law
Ha=20A 2= &d2F2 &2 00|t
. JI20|5Eo MFE = (KCL)
Kirchhoff’s Current Law
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. JI28|5Zo MUY (KVL : Kirchhoff’'s Voltage Law)
Hal=20lAH 2= &2 &2 00]LCt.

-V+V1+V2+V3=0
V=V1+V2+V3
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; V=V1+V2+V3
=] * (R1 + R2 + R3)

| = V/(R1 + R2 + R3)
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-V+V1i+V2=0 —>» V=VI1+V2
-V2+V3=0 —> V2=V3




-V+V1+V2==-V+[1*R1 + (11-12)*R2 =0

—(11-12)*R2 + 12*R3= 0

-V2 + V3
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-Vs1+V1+V2 =0 —> Vs1=V1+V2
-V2+V3 =0 —> V2=V3

—Vs2+V4+V7 =0 —> Vs2=V4+V7
-V4+V5+V6 =0 —> V4=V5+V6




Vs1=V1 + V2

Vsi=11*R1 + (I11-12)*R2

V2 =V3

(11-12)*R2 = 12*R3

Vs2=V4 + V7
Vs2=(13-14)*R4 + |3*R7
V4=V5 + V6

—(13-14)*R4 = 14*R5 + 14*R6
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KCL Kirchhoff’s Current Law)
EdLll= 8512 gt 2L,

=11 +12+13
- -12-13=0
-+ 11 +12+ 13
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| =11+12+13

| =V/R1 + V/R2 + V/R3
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11=I2
(V-V1)/R1=V1/(R2+R3)
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-1 +12+13=0
1T =12+ 13




1 =12 + 13
(V-V1)/R1 = V1/R2 +V1/R3
V1 (1/R1 + 1/ R2 + 1/R3) = V/R1
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-1+12+I183=0 —>» 1 =12+13
—-14-15+16=0 => 16=14+15




1 =12 + 13

(Vs1-V1)/R1 =V1/R2 +V1/R3

14 + 15 =16

-V2/R4 -V2/(R5+R6)
=(V2+Vs2)/R7
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